(sl obJj

46- The velocity of circulation of money is defined as the ratio of net national products
(N.N.P) flow to the stock of ................

1) money 2) capital 3) investment 4) inventory

47- The ............ interest rate is the interest rate actually paid for borrowed funds in
current prices.

1) real 2) net 3) actual 4) nominal

48- ...... unemployment is unemployment created when labor chosen not to take available
employment.

1) Voluntary 2) Involuntary 3) Disguised 4) Frictional

49- Economic costs are the ...... costs incurred in production.

1) Accounting 2) Real

3) opportunity 4) Money

50-The bad market and the poor economic situation ......... the owners of the company.
They were thinking of closing down the business for a while.

1)couraged 2)encouraged

3)demoralized 4)happied

51-The first step in problem solving and decision making is to......

1) evaluate and control 2) identify and diagnose the problem

3) develop creative alternative 4) estimate the costs of alternatives

52- an oligopoly in industry occurs where there are (is):
1) few sellers 2) few buyers
3) one seller 4) one buyer

53- Process of transforming inputs into other forms is called.....
1)outlet 2)output
3)function 4)operation

54- Under conditions of risk a decision must be based on.
1)limited or non factual information 2)incomplete but factual information
3)complete but non factual information 4)limited and non factual information

55- state of not being available , smallness of supply compared with demand.
1) Richness 2) scarcity
3) goodness 4) light
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